
Operations with Hexatrigesimal Numbers (A)

Calculate each answer. Note: 0 (zero) O (letter).

12FWJ36
− PG4B36

N6O236
× W36

Z5HY36
× 8P36

UV36)4FR61U36

FO36)DSAJ036 AO36)94VEO36 1RVJY36
− V7HM36

158V336
− D5ZQ36

WJD536
+ XZZQ36

9I36)1Q3EI36 G936)3ADBO936 GI36)2OPN1I36

2736)HL7TT36 ED36)BHEIRQ36 VN36)MAPFRC36 WA36)1C21RK36

159VC36
− FM7I36

VB36)G5L8DS36 V15Y36
− 989636

143B836
− SBHJ36
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Operations with Hexatrigesimal Numbers (A) Answers

Calculate each answer. Note: 0 (zero) O (letter).

12FWJ36
− PG4B36

CZS836

N6O236
× W36

KLXDS36

Z5HY36
× 8P36

8HMT0M36

UV36)4FR61U36

56CU36

FO36)DSAJ036

VOF36
AO36)94VEO36

UTY36
1RVJY36

− V7HM36
WO2C36

158V336
− D5ZQ36

S2VD36

WJD536
+ XZZQ36
1UJCV36

9I36)1Q3EI36

6JB36
G936)3ADBO936

7A8H36
GI36)2OPN1I36

5V0B36

2736)HL7TT36

80JZ36
ED36)BHEIRQ36

SSB236
VN36)MAPFRC36

PDCO36
WA36)1C21RK36

1HLK36

159VC36
− FM7I36

PNNU36

VB36)G5L8DS36

IKSW36
V15Y36

− 989636
LSWS36

143B836
− SBHJ36

BRTP36
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